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Adet RMS (ppm)
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AdetRaw (ppb) 1D pull distribution
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AdetRaw RMS (ppm)
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asym_bcm_target RMS (ppm)
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asym_us_avg (ppb)
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g RMS (ppm)
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asym_usr (ppb)
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asym_usr RMS (ppm)
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asym_usl (ppb) 1D pull distribution
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asym_usl RMS (ppm)
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lagr_asym_us_avg (ppb) 1D pull distribution
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lagr_asym_us_avg RMS (ppm)
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lagr_asym_usr RMS (ppm)
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1D pull distribution

+0.08503

—0.001225 +0.1203
0.8672

Mean
Std Dev
Underflow

Overflow

1.267/6

12.95 +2.28
-0.06573 + 0.12287
0.8419 + 0.0965

X2 / ndf
Constant
Mean
Sigma

H

0III|III|

39.1/51 R

-559.5 +

X2 / ndf

180

pO

lagr_asym_usl (ppb

4000

2000

4000 —




lagr_asym_usl RMS (ppm)
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